Maths

Draw and Recognise Circle
Graphs

Miss Davies

Please note some slides do have colour font on them
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Equation of a circle

1. Write down the equation of C,, C,, 2. a) Write down the equation of the

and C, - circle with centre (0, 0) and radius 4.
T b) Write down the equation of the
/'/ [ 1€ AR \\ circle with centre (O, O) and diameter 14
ITENE 1 |5

AN /1
~L | c) Write down the equation of the
1 [
\ - circle with centre (O, O) and area 100x
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Equation of a circle

3. A circle with centre (O, O) has a
circumference of 144w cm.

Find the equation of the circle.

4. The equation of a circle is
x% = 4224 — y?
Work out the circumference of the

circle.
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Equation of a circle

5. e.g. Sketch each graph 6. The equation of circle C, is given as
a) x2+y2=49 x2 4+ y2 = b2 where b is the radius of the
Label G, circle.

C, is a concentric circle to C, that has

1o 5 : 10 an area gthe size of C,.
b 2 2 _ 25 : : :
) x*+y = Write the equation of C, in terms of x, y
Label C, and b.
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Answers
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Equation of a circle

1. Write down the equation of C,, C,, 2. a) Write down the equation of the
and C, = R circle with centre (0, 0) and radius 4.
1o x?+y% =16
il
[l 1/ £ TN N b) Write down the equation of the
-15< b | 8 5 | b )15 circle with centre (0, O) and diameter 14
VA \\ _5// /Il X2+ y2 = 49
e c) Write down the equation of the
Ciix* +y* =100 i e circle with centre (0, 0) and area 100x

Cz: Xz <+ yZ = 56.25 xZ + yZ =100
Cs x? + y? = 189.0625
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Equation of a circle

3. A circle with centre (O, O) has a
circumference of 12 cm.

Find the equation of the circle.

x?+y? =236

4. The equation of a circle is
x? = 4224 — y?

Work out the circumference of the

circle. Give your answer in exact form.

137w
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Equation of a circle

5. e.g. Sketch each graph 6. The equation of circle C, is given as
a) x?+y?2=49 1 x? 4+ y? = b? where b is the radius of the
Label C, circle.
> C, is a concentric circle to C, that has
i = \
ST 2 :
Col Ty an area = the size of C,.
-16 5 5 10 3
25 N, 1 A
b) x*+y?== : ' Write the equation of C, in terms of x, y
=5 2
Label C, ~ = and b. 2 +y? = 2%
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